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QUESTION 1

To which layers in the 4-layer metamodel hierarchy for the UML metamodel (as depicted in the exhibit) do M1 and M2
correspond? 

A. M2 = MOF meta-metamodel; M1 = UML metamodel 

B. M2 = UML metamodel; M1 = MOF meta-metamodel 

C. M2 = UML metamodel; M1 = user model 

D. M2 = user model; M1 = UML metamodel 

E. M2 = user model; M1 = runtime instances 

Correct Answer: C 

 

QUESTION 2

What is wrong with the collaboration occurrence shown in the exhibit? 
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A. The keywords are missing. 

B. The keyword is missing. 

C. Client and Server role names should be underlined. 

D. The collaboration occurrence name should be underlined. 

E. Role bindings should be represented by dashed lines. 

Correct Answer: E 

 

QUESTION 3

What are the names of the three compliance levels that organize the UML superstructure packages? 

A. partial, complete, interchange 

B. primary, secondary, tertiary 

C. simple, intermediate, advanced 

D. basic, intermediate, advanced 

E. basic, intermediate, complete 

Correct Answer: E 

 

QUESTION 4

Which statements are true about OCL? (Choose three) 

A. OCL is a programming and procedural language. 

B. OCL is a procedural language. 

C. OCL is a programming language. 

D. OCL is a typed language. 

E. OCL is a specification language. 

F. OCL is a query language. 

Correct Answer: DEF 

 

QUESTION 5

The exhibit depicts the UML superstructure packages for behavioral models. What is the correct identity for packages
Foo and Bar? 
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A. Foo = CoreBehavior; Bar = Communications 

B. Foo = Activities; Bar = Collaborations 

C. Foo = Collaborations; Bar = Sequences 

D. Foo = CommonBehaviors; Bar = Activities 

E. Foo = Collaborations; Bar = Activities 

Correct Answer: A 
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